
 

 

 

 

 

 

 

 

 

AP Calculus AB 

 

Unit 5 – Integration and Antiderivatives 

 



 AP Calculus AB – Worksheet 43      Basic Integration and Antiderivatives 

 

Find all antiderivatives, ( )F x ,  of each function. 

 

1) ( ) 34f x x=  2) ( ) ( )sin 2f x x=  3) ( ) 29secf x x=  

 

4) ( )
3

12
f y

y
= −  

 

5) ( ) 2 xf x e=   

 

 

Evaluate each indefinite integral. 

 

6) ( )20 57 2x x dx−  

 

7) ( )
1 1

2 29 9x x dx
−

+  8) ( )2 64 5t t dt− +  

9) ( )
2

3 2x dx+  

 

10) ( )
1 1

3 34 3 9x x dx
−

+ +  11) 
5 3

2

4 10x x
dx

x

+
  

 

12) ( )sin3 cos7y y dy+  

 

13) ( )22sec tan 5secx x x dx− −  14) ( )
1

2 27xe x dx+  

 

15) 
6 u

du
u

+
  

 

16) 
816 6t

dt
t

+
  

 

 

 

 

 

 

 

 

 

 

 

 

 

Answers 

1) ( ) 4F x x C= +  
2) ( ) ( )

1
cos 2

2
F x x C= − +  

3) ( ) 9tanF x x C= +  

4) ( ) 26F y y C−= +  5) ( ) 2 xF x e C= +  
6) 21 61 1

3 3
x x C− +  

7) 
31

2 218 6x x C+ +  8) 1 75
4

7
t t C−− + +  9) ( )

31
3 2

9
x C+ +  

10) 
4 2

3 3
9

3 9
2

x x x C+ + +  
11) 4 25x x C+ +  

12) 
1 1

cos3 sin7
3 7

y y C− + +  

13) 2sec 5tanx x C− − +  
14) 2 3/21 14

2 3

xe x C+ +  
15) 6ln u u C+ +  

16) 82 6lnt t C+ +    

 

 



 

AP Calculus AB – Worksheet 44     Box Method/ “Most Complicated” Rule 

 

 
  



AP Calculus AB – Worksheet 45       “Most Complicated” Rule 2 

 

Evaluate each indefinite integral. 

 

1) ( )
1

24 3s ds−  

 

2) ( )
1

29 8t dt
−

−  

3) ( )
1

2 99x x dx+  

 

4) ( )cos 8 9z dz−  

5) ( )
3

22 6x x dx+  

 

6) 
32 xx e dx  

7) ( )
1

4 5 23 1 12x x dx
−

−  

 

8) ( ) ( )
12

2 2 1x x x dx+ +  

9) 
2 1

dx

x +  

 

10) 
5

5 9

x

x

e
dx

e +  

11) ( )2sec 6 1x dx+  

 
12) 

( )

7

2
89

x
dx

x−
  

13) ( )4 5 23 4 secx x x dx−− +  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Answers 

 

1) ( )
3

2
2

4 3
9

s C− − +  2) ( )
1

2
2

9 8
9

t C− +  3) ( )
10

2 99
9

20
x C+ +  

4) ( )
1

sin 8 9
8

z C− +  5) ( )
4

21
6

4
x C+ +  6) 

31

3

xe C+  

7) ( )
1

5 21
1 12

10
x C− − +  8) ( )

13
21

13
x x C+ +  9) 

1
ln 2 1

2
x C+ +  

10) 51
ln 9

5

xe C+ +  11) ( )
1

tan 6 1
6

x C+ +  12) ( )
1

81
9

8
x C

−

− +  

13) 5 43
tan

5
x x x C−+ + +  

  

 

  



AP Calculus AB – Worksheet 46    Integration of Inverse Trigonometric Functions 

 

Evaluate each integral.  

 

    

1.  
dx

x2 + 9   2. 
9r2

1− r3
dr  

3.  ( )cos 3 4z dz+  
4. 

dx

sin2 3x  

5.  
( )

2

6cos

2 sin

t
dt

t+
  6.  

x

x2 +1
dx  7. 

40

x2 + 25
dx  8.  

dx

1− 4x2  

9.  
2

2

4 1

y
dy

y −  10.  
dx

9 − x2  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Answers: 

 

1.  
1

3







tan−1 x

3







+ C   2. −6 1− r3 +C  3.  

1

3
sin 3z + 4( )+C  4. ( )

1
cot 3

3
x C− +  

5.  −
6

2 + sint
+C  6.  ( )21

ln 1
2

x C+ +  7. 8 tan−1 x

5







+ C  

8.  ( )1sin 2x C− +  

9.  
21

ln 4 1
4

y C− +  10.  sin−1 x

3







+ C  

 

 

 

  



AP Calculus AB – Worksheet 47        The Definite Integral 

 

Evaluate each definite integral. 

 

1) ( )
1

0
5x x dx+  

 

2) 
3

4

3

sin xdx


  

3) ( )
4

3

3
2 9x dx

−
+  4) 

58
3

1
x dx
−

  

 

5) 
4

2
1

2

x dx−

  6) 3 2

0
7sec xdx



  

 

7) 
6

1

1
3t dt−

  

 

8) 42

0
cos7xdx



  

9) 
5

3

0
6 xe dx  

 

10) ( )
1

2 3

0
3 2x x dx−  

11) 
42

3

0
16 xx e dx  

 

12) ( )
2 1

3 2

0
5x x dx

−

+  

 13) 
9

0

1

4 3sin
dx

x+  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Answers 

 

14) 
19

6
 15) 

2 1

2

+
 16)  

81
128 36 27

2

 
+ − − 

 
 

17) 
9

8
 18) 

7

4
 19) 7 3  

20) 3ln6  
21) 

1

14
 

22) 152 2e −  

23) 
3

2
 

24) 164 4e −  
25) 

1 13
ln

3 5

 
 
 

 

26) 2.829    

 

  



AP Calculus AB  - Worksheet 48       Integrate with initial values 

 

Find the general solution to the exact differential equation. 

 

1.  4 25 sec
dy

x x
dx

= −  2.  
dy

dx
= sin x − e−x + 8x3  3. ( )2

1 1
, 0

dy
x

dx x x
= −   4. ( )2 33 cos

dy
t t

dt
=  

 

 

 

 

Find the particular solution to the differential equation. 

 

5.  
dy

dx
= 3sin x ; 

y = 2 when x = 0  

6. 
dy

dx
= 2ex − cosx ; 

y = 3 when x = 0  

7.  ( ) 6 2' 7 3 5f x x x= − + ; 

( )1 1f =  

8. 
9 4' 10 5 2 4y x x x= + − +  

6 when 1y x= =  

 

9. ( ) 2 4

1 3
' 12f x

x x
= − − +  

( )1 3f =  

10.  2 3
5sec

2

dy
x x

dx
= − ; 

0 7xy = =  

 

11.  
2

1 1
6

dx

dt t t
= − + ; 

x = 0 when t =1  

12. 

4sec tan 6tdv
t t e t

dt
= + + ; 

v = 5 when t = 0  

13.   

 

d2y

dx2
= 24x2 −10.   When x =1,  

dy

dx
= 3 and y = 5. 

14.  

  

( )" cos sin .f x x x= −  ( ) ( )' 0 2 and 0 0f f= =  

 

 

 

 

 

Answers: 

1. y = x5 − tan x +C  2.  

y = −cosx + e−x + 2x4 +C  

3. y = ln x + x−1 +C  4. ( )3siny t C= +  

 

5.  y = −3cos x + 5  6. y = 2ex − sin x +1  7. 

( ) 7 3 5 4f x x x x= − + −

; 

 

8. 

y = x10 + x5 − x2 + 4x +1

; 

 

 

9. 

( ) 1 3 12 11f x x x x− −= + + −  

 

10.  y = 5 tan x − x
3

2 + 7 ; 

(0 )
2

x


   

 

11. 

x = ln t + t−1 + 6t − 7 ; 

( )0t   

12. v = 4sect + et + 3t 2 ; 

−


2
 t 



2







 

Note that C = 0. 

13.  y = 2x4 − 5x2 + 5x + 3  

 

14. ( ) cos sin 1f x x x x= − + + +  

 

 

  



AP Calculus AB - Worksheet 49         Integration Review 1 

 

1) ( )
2

2 3

1
2 3 4x x x dx− +  2 ( )

1
6 2

0
4 5x x x dx+ − =  3) 

4

23

3

8

x
dx

x
=

−  

4) 57 xe dx− =  5) cos5 x sin x dx =  6) 
ln9

ln 2
4 xe dx =  

7) 
e x

x
dx

4

25

 =  8) 
dx

1+ x23

3

1

 =  
9) ( )cos 3 2x dx− =  

10) 
x

9 − x2
dx  11) 

( )
4

2

3

1

x
dx

x
=

+
  12) x cos x2  dx  

13) cos3 2u sin 2udu =  14) Find the antiderivative of 
2

2cos

sin

x

x
 15) Given that ( ) 21 3

'
2 4

f x x x= +  

and ( )1 2f = .  Find ( )f x . 

16) If ( ) 4' 5 2f x x x= −  and if 

( )1 6f = , then ( )2 ?f =  
17) lim

x→4

x2 − 4

x2 −16
 18) lim

x→6

x − 6

x2 − 36
 

19) ( ) ( ) ( )" ;  ' 2 0;  0 4f x x f f= = = , 

find ( )1f  

20) 
0

sec tanx xdx


  21) 

( )

1

20
3

x

x

e
dx

e−
  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Answers: 

1) 11 
2) −

73

504
 3) 

3
ln8

2
 4) −

7

5
e−5x +C  5) −

1

6
cos6 x +C  

6) 28 

7) ( )5 22 e e−  
8) 



12
 9) −

1

2
sin 3− 2x( )+C  

10) 

− 9− x2 +C  

11) 

( )
3

2

1

2 1
C

x
− +

+
 

12) 

1

2
sin x2 +C  

13) 

−
1

8
cos4 2u +C  

14) −
2

sin x
+C  

15) 

( )
3

23 35

6 8 24

x
f x x= + +  

16) ( )2 34f =  17) DNE 
18) 

1

12
 

19) 
13

6
 

20) −2  
21) 

e−1

2 3− e( )
 

   



 

AP Calculus AB – Worksheet 50        Integration Review 2 

 

 

1. 
x

x2 +1
dx

0

1

  2. 
22

0
cos sinx xdx



  

3. 3x − 2( )
3
dx

1

2

  4. e− x dx
−1

0

  

5. 
3

1

6 2x
dx

x

−
  6. lim

x→5

2x2 − 9x − 5

x − 5
 

7. ( ) ( ) ( )2' 3 4 and 2 14,  find 1f x x f f= + =  
8. 

1

16 − x2
dx  

9. x2 15− 4x( )dx
0

1

  10. Find 
dy

dx
 for 23 4 7y x xy− =   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Answers: 

1) ln 2  
2) 

1

3
 3) 

85

4
 

4) e−1  

5) 12 ln9−  6) 11 7)) 3 
8) arcsin

x

4







+C  

9) 4 
10) 

4 7

6 7

dy y

dx y x

+
=

−
  

  

 

 

 

 

 


